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Question Shuffling Allowed : No

Question Id : 8732654833 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group
Comprehension Questions : No Question Pattern Type : NonMatrix

Question Numbers : (1 to 5)
Question Label : Comprehension

1-5 Questions : Read the following passage and answer the
questions that follow :

Our present idea about the motion of bodies dates back to Galileo
and Newton. Before that people believed in Anstotle. who said that the
natural state of a body was to be at rest and that it moved only if driven
by a force or impulse. It followed that a heavy body should fall faster
than a lighter one. because it would have a greater pull towards the
earth.

The Aristotelian tradition also held that one could work out all the
laws that govern the universe by pure thought: it was not necessary to
check by observation. So no one until Galileo bothered to see whether
bodies of different weight did in fact fall at different speeds. It 1s said
that Galileo demonstrated that Aristotle’s belief was false by dropping
weights from the leaning tower of Pisa. The story is almost certamly
untrue, but Galileo did do somethmg equivalent: he rolled balls of
different weights down a smooth slope. The situation is similar to that of
heavy bodies falling vertically. but it is easier to observe because the
speeds are smaller. Galileo’s measurements indicated that cach body
mereased 1its speed at the same rate. no matter what its weight. For
example. if you let go off a ball on a slope that drops by one meter for
every ten meters you go along. the ball will be travelling down the slope
at a speed of about one meter per second after one second, two meters
per second after two seconds. and so on. however heavy the ball. Of
course a lead weight would fall faster than a feather. but that is only
because a feather 1s slowed down by air resistance. If one drops two
bodies that don’t have much air resistance. such as two different lead
weights, they fall at the same rate.

Sub questions

Question Number : 1 Question Id : 8732654834 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Our preset 1dea of motion dates back to ?

Options :
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Aristotle

1. ®

, » Plato

Copernicus
3. %

Galileo
o

Question Number : 2 Question Id : 8732654835 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

According to the Aristotelian tradition the laws of the universe can be
understood by ?

Options :
Logic
1. %

Thought
2. v

Faith

3. %

Observation

Question Number : 3 Question Id : 8732654836 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following falls down faster?

Options :

Feather

about:blank 3/90
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, » Ball

Nothing

3. %

[ead

4.9

Question Number : 4 Question Id : 8732654837 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the word 1n the passage which means ‘opposition’?
Options :

~ Logic
1. %

Thought
2. %

Faith

3. %

L Resistance

Question Number : 5 Question Id : 8732654838 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the antonym for ‘equivalent’ in the passage
Options :

Identical

Similar

about:blank 4/90
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Different
3. ¢

P Opposite

4

Sub-Section Number : 2
Sub-Section Id : 873265192
Question Shuffling Allowed : Yes

Question Number : 6 Question Id : 8732654839 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The match by the time we reached the stadium.

Options :

had started
1. ¢

was starting

2. ®

would have started
3.

started
4, %

Question Number : 7 Question Id : 8732654840 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
My mobile phone 1s stolen (Choose the correct Active Voice)
Options :

Some steals my mobile phone.
1. %

Someone has stolen my mobile phone
2. ¢

about:blank 5/90
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A thief has stolen my mobile phone
3%

My mobile phone is stolen by someone.

Question Number : 8 Question Id : 8732654841 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
I said to my friend “Stop smoking” (Choose the correct Indirect Speech)

Options :

I ordered my friend that he should stop smoking

1. ®
I advised my friend to stop smoking
2. ¥
I told my friend that smoking 1s injurious to health
3%
I requested my friend not to smoke
4, %

Question Number : 9 Question Id : 8732654842 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

She was ignorant. She admitted it. (Combine these two sentences into
one Simple Sentence)

Options :

She was ignorant but he admitted it
1. %

Being ignorant, she admitted it
2. %

about:blank 6/90
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Despite her 1ignorance, she admitted it
3%

She admitted her ignorance
4.

Question Number : 10 Question Id : 8732654843 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Find the correct sentence among the following :
Options :

One of the boys are making lot of noise in the class.
1. #

Furnitures are properly arranged in the hall.

) He 1s too weak to walk
3. -

I could not be able to get through the examination inspite of my
hard work.

Question Number : 11 Question Id : 8732654844 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the appropriate preposition:

She has got lovely gold bangles her arm

Options :

n

about:blank 7190
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011
3.¢

at

Question Number : 12 Question Id : 8732654845 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the tense in the following sentence:
How long have you been reading that book?
Options :

Past simple

Present continuous

Past contmuous

Present perfect continuous

Question Number : 13 Question Id : 8732654846 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Choose the correct spelling:

Options :
Playwright
1. ¢
Playright
2. %

about:blank 8/90
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Playwrite

Playerite
4, %

Question Number : 14 Question Id : 8732654847 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Transform the following Simple sentence into a Compound
sentence :

Being a vegetarian, she doesn’t eat meat.
Options :

She 1s vegetarian: she does not eat meat

1.V
She, a vegetarian do not eat meat.
2. %
She 1s a vegetarian, so she does not eat meat.
3. %
She 1s vegetarian....not eat meat.
4, %

Question Number : 15 Question Id : 8732654848 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Turn into direct speech :

Ramya told me that she wants to go to Canada next year.
Options :
Ramya said, “T want to go to Canada next year”.

I

about:blank 9/90
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Ramya says, “I want to go to Canada next year”.

2. %

Ramya said, she wishes “to go to Canada next year”.
3. %

Ramya says, “T wanted to go to Canada next year”.
4. %

Question Number : 16 Question Id : 8732654849 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What is the synonym for the word ‘Synonym’?
Options :

Supremacist

Opposite

2. %

Similar
3. ¢

Infinitude

Question Number : 17 Question Id : 8732654850 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Turn into reported speech :
I am going away for a few days.
Options :

She says she 1s going away for a few days

about:blank 10/90
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She said she 1s going away for a few days

2. %
) She said that she was going away for a few days
3. i
She said that she i1s going away for a few days
4, %

Question Number : 18 Question Id : 8732654851 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Choose the correct sentence.
Options :
Her hairs were grown

1. #®

Her hair is grown
2. ¥

Her hair are grown
3. %

Her hairs are grown
4. %

Question Number : 19 Question Id : 8732654852 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
He tried to kill the snake. 1t went mto the anthill.
Options :
mstead

1. %

for
2. ®

about:blank 11/90
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still

3. %

however
4.

Question Number : 20 Question Id : 8732654853 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
He crossed Indian ocean twice.
Options :

the
. ¢

dll

zero arfticle

Question Number : 21 Question Id : 8732654854 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which among the following is the correct sentence?

Options :

Ranadhir is going to arrive tomorrow

1. %
Ranadhir will have amrive tomoirow
2. ®
Ranadhir will arrive tomorrow
3. ¢

about:blank 12/90
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Ranadhir will be arrive tomoirow

Question Number : 22 Question Id : 8732654855 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0
Identify the correct sentence.
Options :

The porter nsisted helping us with baggages.
1. %

The porter insisted to help us with our baggage.
2. %

. The porter insisted to carry a baggage.
3.

L The porter insisted on helping us with our baggage.

Question Number : 23 Question Id : 8732654856 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In which sentence 1s the Article “an” used correctly.

Options :

He eams an about thousand rupees a month.

Shakespeare 1s an renowned dramatist .

I had never visited an hospital before.
3. %

He has been here about an hour.
4.

about:blank 13/90
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Question Number : 24 Question Id : 8732654857 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Identify the sentence in active voice.

Options :
A kite 1s being made by the boy.
1. %

She was admired very much by him.
2. %

) English 1s spoken (by people) in many countries.
3.

Somebody set the huts on fire.

Question Number : 25 Question Id : 8732654858 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

One word Substitutes.

A thing occurring again and again for a long time
Options :
anachronism

expatriate

chronic
3.

coincident

General Knowledge
Section Id : 873265160

about:blank 14/90
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Section Number :
Section type :

Mandatory or Optional :
Number of Questions :

Number of Questions to be attempted :
Section Marks :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

about:blank
2
Online
Mandatory
15
15
15
0
1
873265193
Yes

Question Number : 26 Question Id : 8732654859 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

In May 2024, who was appointed as the President of GST Appellate

Tribunal?

2024 3 &° GST 0BE BagdS (23S 58 AehMobarrds?

Options :

3.¢

Justice (Retd) K.G.Bala Krishnan
230 (880) 8.2.27v (B85S
2 3

Justice Surya kant
2 JrgiTroa
(]

Justice (Retd) Sanjaya Kumar Misra
2% (888) Sozch LErs MoFr

Justice A.S.Bopanna
225 2.08 895K
]

Question Number : 27 Question Id : 8732654860 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The scientists discovered the deepest “Taam Ja” blue hole near which

country

FREIEe 6588 S = ap FBS © O 8% o EhrTNG?

about:blank
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Options :

Mexico
v &&JEE
Brazil
|B2S

Peru
S Folety

Chile

28

4. %

Question Number : 28 Question Id : 8732654861 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which Delhi Sultan was known as “Prince of Moneyers™?
“@F) 85 HIHEY” e Do 288 EDHerS HS?

Options :

Alauddin Khalj

werHesS P

Firoz shah Tughluq
28%F ar s

Balban
- E.FQQS

Muhammad bin Tugluq

Sosesins HF LB
4.« 2
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Question Number : 29 Question Id : 8732654862 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Gandhiji withdrew the non-cooperation movement because of
modd H5Ea%h Joeddes &) & sdmorr DEoTB.

Options :

Chauri-Chaura incident

FTBFo° Dol

1.+
Jallianwala Bagh massacre
2DADS Torwrh FPagErol
2.
Gandhi-Irwin Pact
- mo&-aasg aoiio
Poona Pact
PP 2)olio
4. %

Question Number : 30 Question Id : 8732654863 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was not the work of Rabindranath Tagore?
& (808 08" BHolBxE oKrE 8358 06 28?

Options :
Gitanjali
| Amroz:d
Anandmath
" EhYatatee]]

about:blank 17/90
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Ghare-Baire

3. % $5-35
Gora
. foe
4, %

Question Number : 31 Question Id : 8732654864 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Rukmini Devi Arundale was famous dancer in
883 3D ©B0ES O Teges’ (©58 Sowse?

Options :
Kuchipudi

- Erdrs
Kathakali

- Eord
Kathak

3. % 858

Bharatanatvam
BaTero
o v BT

Question Number : 32 Question Id : 8732654865 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following was the highest water fall in India?
Bod T8S&° 8883%0S° A8 moardo 2&?

Options :

about:blank 18/90
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Athirampally water falls

©8T°00D ears0

1%
Kunchikal water falls
%oddS zeardo
2.9
Hebbe water falls
- RK) searso
Jog water falls
£ zeardo
4. %

Question Number : 33 Question Id : 8732654866 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Seismology is the study of
?aﬁ‘gué 332 oFabhto Bood?

Options :

Volcanoes

a

. @ﬁ&dé{gﬁ“ﬂ:
Cyclones
Sogrdoen

2. %
Earthquakes

v Hrdoaren
Tsunamis
Bomedoen

4. %

about:blank 19/90
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Question Number : 34 Question Id : 8732654867 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Who was the first Chairperson and Managing Director (CMD) of
Bharatiya Mahila Bank?

BB Hotree o508 Tl Fok IndS FEIG)S bk IRk Zo%5
(CMD)2%50?

Options :

Usha Anantha Subramanian
&P vdod JEHAHI

1.
S.M.Swathi

L« OR.d0.g8
Leena Nair
D =a%b

3, %
Roshini Nadar
8528 =6

4. %

Question Number : 35 Question Id : 8732654868 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Narasimhan Commuittee-II was appointed to recommend reforms on
$82005°8 $0é- 11 (Bod wo¥oR & dodBmot BFFLy) BbmeRs
Qabavodn&od.
Options :
Insurance sector
3¥m3) Boifo

1. %

about:blank 20/90
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Poverty
- 2%8%0
GST
- Babod
Banking sector
ago8oh Boifo
4.9

Question Number : 36 Question Id : 8732654869 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

Part III of the Constitution of India deals with
Eailet] G"E"Ef‘}oﬁoéﬁ&} [l & Dario &2 %80 BenHHod.
Options :

The Union and its Territory
GrRcHS P8k TR rgrio

1%
Citizenship
wt
- FEIS0
Directive Principles of State Policy
©a88 Srsee

3. %

Fundamental Rights
L (PEE e

Question Number : 37 Question Id : 8732654870 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank

21/90
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Who was the first Chief Election Commissioner of India?
B8BED &D LD DoES Lh8s JB8?

Options :

S.P. Sen Varma

a5, BE S8

Sukumar Sen
H0%drE BS

2.¢
Kalyan Sundaram

, w BT oddo

T. Swaminathan

8. T ES

Question Number : 38 Question Id : 8732654871 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What 1s the theme of International Earth Day 20247
wodTich $oé aS°g ko 2024 Fw¥) a8 HZo 287

Options :
Invest i our planet
33 B ©I6 FIS

Restore our earth
B3R5 w5 o

Planet vs plastics
P38 Vs L5
o e

3.¢

about:blank 22/90
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Protect our Species

B85 55 &ES

4.%

Question Number : 39 Question Id : 8732654872 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Jim Corbett National Park was mainly the reserve of
2 Q)8 IRS8S &) (Sgrdore D& oFTBeago.
Options :
Tigers
s
| v ORISR
Lions
- HoSFen
Rhinoceros
L q:eéé:amm
Crocodiles
i
L S00¢Y)

Question Number : 40 Question Id : 8732654873 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What 1s the name of the document maintained by IUCN about the rare
and endangered species of plants and animals?

g8 Lbdin ©oddoRRPHK) Snde Hodn 2oHHe e Hdod ITUCN
NEER) TR0t D 26?

Options :

about:blank 23/90
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Green List

AS 8%
], ® =
Red List
38 85
2.¥ e
Black List
2B o5
3 % 2 TH
Yellow list
28 0%
4. ¥ s
Teaching Aptitude
Section Id : 873265161
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265194
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 8732654874 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The role of a facilitator in classroom 1s
S8K8 K68° 2HOBwWE FE .
Options :
To dictate information to students
Sﬁwgﬁgﬂé RRFT TR E’Q@%mﬁcﬁc

1. %

about:blank 24/90
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To guide and support student learning
Do il 8 a’:regaééaéo Badyfo LBakn P adwo

2.¥

To admunister tests
a’::ééﬂzéa DB EroBerRs

To discipline students
DTBR (E8Ers® sobirRd

Question Number : 42 Question Id : 8732654875 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Primarily the development of child is depend on
8% Do (Frprdvdornt SIS BEEddd add .

Options :

Parents
SDXooen

Society
Saioeezdin

School climate
FETe PEDEHW

Environment
a’:cgéiﬁeaa’m

4.

Question Number : 43 Question Id : 8732654876 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 25/90
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The position of the teacher in teaching learning process.
S8 0SS (HBHS® aarmyeind 28
Options :
a leader
B

a dictator
, w Nhod

a member

s DS
a director
B
4,

Question Number : 44 Question Id : 8732654877 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Effective teaching 1s a function of

SLogHoss > dpeddn
Options :
Teachers satisfaction

e
1'% SPEAER o3
Teacher’s honesty and commitment
. ﬁé"i:p‘écﬁwﬁ Rarond H8dn Hodesn
2.
Teacher’s making students learn and understand

3?553&65 @5555 08k VI ED)odhe
3. >

about:blank 26/90
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Teachers liking for professional excellence.
i wt s

ﬁ%ﬁp‘gdﬂnﬁ) B :aa’n:?géi 56 ool

4.%

Question Number : 45 Question Id : 8732654878 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
What does the term “learning style” refer to?
S)eh .S ©3 B¥o B Lrd%os?

Options :

The speed at which students learn

&wgﬁéw 3&3%}3 3K0

] %
The preferred way a student learns best
- D8 adsvorr SENEFI (@ srgo
The number of subjects a student can learn
o v
L DTg 36%3%521&: SZDe Joxyg
The location where learning takes place.
©ZTR0 287 (P8¥o
4, %

Question Number : 46 Question Id : 8732654879 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

What does “cognitive development” focus on in the context of
education.

DES® pEE Do BIP R D&os?
Options :
Physical growth of students
Slﬁﬂgdcgﬂ =888 dihde

1. %

about:blank 27/90
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Emotional intelligence

) e;PSEésﬁ 33:5‘:6::]
Mental processes and skills like problem solving and critical
thinking.

v Sodg-B0amdsn bk DgTdE 98 S Sof Hrkdd dmeo
Social interaction among students.

L Do sogy pEras S89)8 S5

Question Number : 47 Question Id : 8732654880 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

Interaction inside the classroom should generate
HBHB B85 weoe S8K88 Kas°

Options :
Argument
. S8
Information
S ordsn
0.
Ideas
3 @ a&tSden

Controversy
Daedan

Question Number : 48 Question Id : 8732654881 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 28/90
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Which one of the following statement is correct.
& Bod (PSS’ 26 $BL8.
Options :
Syllabus 1s annexure to the curriculum
| Hoodh O3 é"ﬁgoaﬂﬂé} wdoodo
Curriculum 1s the same 1n all educational mstitutions.
L~ ‘éoéa&&oﬁéﬁ Fogodtn 2,58

2. %

curriculum includes both formal and mformal education.

v ©H0E, ©BRTEE DEE° ardyderdE 2.8 o

Curriculum does not mclude method of education.
DEsE° P DerBE D Sokd.

4, %

Question Number : 49 Question Id : 8732654882 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which 1s the least important factor in teaching
EEK8E° EJ% (e 88D 8?

Options :

Punishing the students
v S):;:‘U@E?D 8800

Mamtaining discipline in the class
8868 K588° (E8Em Fdodwo.

Lecturering in impressive way
widhd £°88

about:blank 29/90
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Drawing sketches and diagrams on the black board.

Sopgp D@k, S Ao
4. %

Question Number : 50 Question Id : 8732654883 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The ability to learn by an individual 1s
58 o3 .%véggxia: odme
Options :
Acquired by the individual
1'33 53‘5;:353 Loardd
Developed by the teacher
SaREgaind s a’gg Schne

2. %

Absorbed from environment

a
L n::tsﬂﬂﬁa’siﬁeaa’m 5'56 (880 hes

Occurred from within

S'%e %ol JoiDoRBs
4. &

Mathematics

Section Id : 873265162
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 100
Number of Questions to be attempted : 100
Section Marks : 100
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 873265195
Question Shuffling Allowed : Yes

about:blank

30/90
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Question Number : 51 Question Id : 8732654884 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
. ay 1 .
If the general solution of — = ——15 x = C(sec tany).
&= dx X-5ecyt7? ’f (y) T ( - $eg }’)_
then e/ () =

d 1
T o Sk AREYBE FEK x = [(y) + C(secy + tany) eawd,

Options :

(]- + sin y) e[sec}"l-tall V)

1. %

(l 1 sin }’) (secy—tany)
2. %

. (i + sin }") 7(secy+tany)
3. ¥

| [L4-sing) g7 Ceeysiong)
4.

Question Number : 52 Question Id : 8732654885 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

dy ¥
dx N ‘fx_y
dy y

= — ©3d
dx X=Xy

Options :

Linear equation in x
Lx X & DESrs Bo¥dnsn
Linear equation in v

v & D8SrS So88eedm

2. ®

about:blank 31/90
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Bernoulli’s equation in y

y & 363D $Sosmn

3. %

Befrnoulli’s equation 1n x

o X & 3D $HEsnio

4

Question Number : 53 Question Id : 8732654886 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. dy (e*—tany secx tanx) . :
If the equation = . = 1s an exact equation, then a
dx flx)sec?y

possible function for f(x) 1s

d (e*—tany secx tanx
T T e il )
dx f(x)sec?y

& f(x) Dot 2.4 (HHoakhso

Options :

2.8 chgrdd JSnddno wans,

L Secx
tanx
- Sinx

Cosx

Question Number : 54 Question Id : 8732654887 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
An integrating factor of ydx — xdy + (y* + y*x?)dx + y*siny dy = 0 18

ydx —xdy+ (¥® +y*x*)dx + y*siny dy = 0 &) 2.8 J&rdord eto.
Options :

2
1. 2

about:blank 32/90
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|
2
) % 1+ x
1
3_33 xzy
1
4. ® X

Question Number : 55 Question Id : 8732654888 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The solution of the equation (2x cosy+3x’y) dx+(x’ —x° siny—y) & =0

passing through the point (0,2) is
(2x cos y+3x7y) dv+(x° —x” siny—y) dy = 03888 BE)
(0.2) Dothsh thome DB S

Options :

x cos y+x2y—y=-2

1. ®

x’cosy 1—1}’—% =—]
2. % -

s : S

xcosy+x-y—y-=—4

3. %
1.2

.T2c05.1*+x3_1'—'2 =—2

4. ¢

Question Number : 56 Question Id : 8732654889 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

about:blank 33/90



6/13/24, 11:50 AM about:blank

7 dy
The solution of p" +4p—-5=0_where p= d—i 1s
l" )
=& wondRPH P +4p-5=0 R0 FEE
dx
Options :

Sx+y—c) (y—x—-c)=0
1.

(2x+y—c) (y+x—c)=0
2. %

. (4x+v—c) Ly—x—c)=0
3.

Bx+y—c) (y—2x—-c)=0
4. %

Question Number : 57 Question Id : 8732654890 Question Type : MCQ Option Shuffling
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. T 2. f"f‘r" :
The solution of X (v—px)=vp~: p ZE 1S
2 -~ dy s
V—px)= ; = —
y—p Yyl e R PE®
Options :
2 =cx? +c?
1.
V=ex
2. %

y=cx" ++4Xx

y=cfx + ¢

4. %

about:blank

: No Display Question
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Question Number : 58 Question Id : 8732654891 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Orthogonal trajectories of the family of straight lines y = mx 1s a
family of
YV = mx 8¢ Sy Htnondn ci:oég_ son Hopddnen
Options :
Parabolas
SoeRdechine Hénonsn

1. %

Circles
- a’ae)é_ﬁﬁéw&: BHénonsw
Straight lines
$8€ Bpe Henondn

Hyperbolas
©8 JorRodire Hénonsn

4. %

Question Number : 59 Question Id : 8732654892 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The orthogonal trajectories of the family of concentric circles with
center at (a, b) 1s

(a,b) &8 Sol¥dm Ko ¥ Sodcd HEoe SHenono BwE) von DoPdmen
Options :
Set of all parabolas having axes as coordinate axes.
NEr08 wpred vwidnenrt HOAL o) dordedire 8.

1. #®

Set of all concurrent straight lines through (a, b)
- (a,b) Hom B o)) ©HRE $8E0pe S8

about:blank 35/90
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Set of all concentric ellipses with center at (a, b)
(a,b) &8 Zo(Esndo KOAS ol ¥ Sol@ch HSsoe S8

3. %

Set of all concentric circles with center at (0,0) and passing
through (a, b)

(0,0) 8 Sol&w KOA, (a,b) Kome Bb oY ¥ SoldcdH JPawe
o B8

Question Number : 60 Question Id : 8732654893 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The general solution of (D°+4D)y=sin2x is

(D’ +4D)y =sin2x Q¥ FE8E F5b
Options :

y=C+C,cos2x+C;SIn2x—x COSX

1. ®
v=C;+C,co82x+C,sin 2x—x* cosx
2. %
= : X
,1':(.1+Czc052r+f‘351112x—§ sin 2x
3. ¢

y=C+C,co82x+C;sin2x—x sin2x
4. %

Question Number : 61 Question Id : 8732654894 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The general solution of (1 — é) (% — x) = 1. where p = % 18
p =2 wantpds (1) (2 x) = 1 Gty dy08 45

Options :

about:blank

36/90
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y=x+cx?

y=cy+y?

4, %

Question Number : 62 Question Id : 8732654895 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

The general solution of (D*—4D+4)y=x°
(D*—4D+4)y =x" Q¥ FEYBE oSS

Options :

3
ﬂ“ Ox
y=(qtcx P R L
1 2

4.~ 4 = &
1. v

|

§— - 2x 9x l
y=(¢,+e,x) e +2 7 +—8 o
2. %

5

2 X 9% 3
y=(g+e,x) e+ —+=—=
(G+ex) e +35+5
3. %

A

i J J

v=(g+cx) e+ +—+-+=

L 6 48 4

about:blank
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Question Number : 63 Question Id : 8732654896 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The complementary function of a linear non-homogeneous n” order
differential equation with constant coefficients 1s

BT e Hoomros® 2.8 0dLdrdcd NEHrE n-5 S8K8 odded So¥semo
B B (BIbako.

Options :
A linear combination of any (n — 1) solutions of its homogeneous

equation.
TR $odrdcdh Sd¥dmo @od) Az (n — 1) Fke ¥ 2.8

RESrS SoIrio.

1. %
A linear combination of any n functions involving sin x, cos x, €%,
log x
Sin X, cos x, €%, log x &%y AT n (Fhdsre Tod) 2.8
- NEIrS DoIrKo
. . : ~ L . :
A linear combination of any Esolutlons of its homogeneous
equation.
n
orR Hodrdich BdnEdmso God) DI = FEde Eod) 2.8 Eird
Sod&@=iio.
3. %
A linear combination of » linearly independent solutions of its
homogeneous equation.
oo SHodrficdh dhEsmo ¥ 1 NESreS S0l S ¥ 2.8 )
Edoed Dod@rio.
4. ¢

Question Number : 64 Question Id : 8732654897 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

38/90

about:blank
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about:blank

If e®™ and x e™ (a # 0) are two linearly independent solutions of a

second order linear differential equation f(D)y = 0, then the particular
integral of f(D)y = e is

e™,x e (a # 0)en 2.8 B85 88458 08 Hrd wdde’ Sodno
F(D)y = 0 Gk Both ¥ 5o Heold FE8, ey f(D)y = ™

BE) @’:%é SEL TR

Options :

xz E,EI.Z"L'

1. %

Question Number : 65 Question Id : 8732654898 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

] { F-
E'f{x}_

Options :

e j'e“""f (x)dx

1. #®

e™ I f(x)dx

about:blank

=2
X
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& I f(x)e™™dx

3. ¢

g j f(x)e™dx

Question Number : 66 Question Id : 8732654899 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

dy dv
=—5—+6y=x", then

d Tdx

If y=ax*+bx+c is particular integral of

a+b+6c =

dj_}’ d} i 2 S=B s s g o o

- _SEH,}:X Bo¥) (H8gE $&rBoR Y =ax’ +bx+ ¢ vows, ©ofpd
a+b+6¢c =

Options :

L
» O

19
108

Question Number : 67 Question Id : 8732654900 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The general solution of (D°+9)y=cos’x is

(D +9)y=cos’ x Bwd) FEY8E FES

about:blank 40/90
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Options :

: > . 3
y=¢,€c0s3x+¢, SN 3x+—sin x+-—cosx
‘ ’ 24 32

— ot

1. %
- X 3
¥=¢€083x+¢, S 3x +—sin 3.T+Ecos X
2.
: > SN 3
y=¢cos3x+c,sm3x+ o 3x+—cos3x
3. % o
. X . 3
y=¢ cos3x+c,Sm3x+-—sinx+-——cos3x
e 24 32

about:blank 41/90
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Question Number : 68 Question Id : 8732654901 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The Orthogonal trajectories of the family of curves » = af, where a 1s a
parameter, 1s

a 2.8 $T°08 VodQpdH JEre Hewomo 1 = af Bw¥) son BoFddwen.

Options :
2
?"2 = C 6’8
1. ®
C
r2=—=¢°
2
2. %
92
-=exp (—)
3. ¢

Question Number : 69 Question Id : 8732654902 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If y=ce™+ce ™ +cysinax 1s the general solution of
(D?—a?)y=smax (a 1s a positive mteger); y(0)=0 and y(x)=0, then
G +C+e =

(D*—a?)y=smax (a Eﬁé‘!’.g}“c;oéo) : W(0)=0&8c% v(r)=0,

G FBYBE FEE Y = 1T + 6T 4¢3 5in ax wons, ol
Q+C,+C=

Options :

about:blank 42/90



6/13/24, 11:50 AM about:blank

|
2a’

Question Number : 70 Question Id : 8732654903 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The equation of the curve satisfying the differential equation

(1427 }% +2xy—4x’ =0and passing through the origin 1s

wbes Shgsmo (1421 2+ 2—4r' 0% & Sk, bk
Sroodd oo B Hge ddsemo.

Options :

3y (1+x%)= 4x°
1. v

3y (I1+x)= 2x

2. ®

2y (1+x%)= 3x?
3. %

2y (x+x2)= 3x°
4. %

Question Number : 71 Question Id : 8732654904 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 43/90
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The equation of the plane which cuts equal intercepts of unit length on
the coordinate exes 1s

NErDE o chrdd PED) o S8r8 wodl pomrei 3&¥o o Soo

Em@jﬁm%mér
Options :
| % xX+y+z=3

e 5 i g el |
2. %

xiyhe=1
3.

2x—y—z=1
4. % '

Question Number : 72 Question Id : 8732654905 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the plane passing through the point (1.2.3) and parallel
to the plane 2x + 3y + 6z = 91s

(1.2.3) Doty Koo 88 H8a%w 2x + 3y + 62z = 9 Sodinddh
JdrodBomr aod oo tﬁzoé@ S3E8m0

Options :

2x -t 3y +oz | 260=0

1. %

2x+ 3y 6z—26=10
2.

2x—3y—6z=9

3. %

2x +3y — 6z =26

4. %

about:blank 44/90
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Question Number : 73 Question Id : 8732654906 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The perpendicular distance from the origin
x+2y—2z4+9=0 1s
soredoths) Ho& Xx+2y—2z+9=0 SoinuldH Ko wondrdsn

to the plane

Options :

1. = 2

Question Number : 74 Question Id : 8732654907 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes
Correct Marks : 1 Wrong Marks : 0

The angle between the two planes x —y+z=6and2x + y —z =9 1s
X—y+z=06 8w 2x +y —z =9 dosinwe D& Ko B0

Options :

[
3

| S

(R =

3.¢

45/90

about:blank
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T
4. %

Question Number : 75 Question Id : 8732654908 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the plane through the line of intersection of the planes
x+3y+4z—7=0, x+y+z—1=0 and perpendicular to the
planex —3y +5z—1=101s

x+3y+4z—7=0, x+y+z—1=0Soswe FES By oo &
080 x — 3y + 5z — 1 = 0 Sodnidd vomorr aot Sodn $Edmo.
Options :

Zx+3y+z—=4=0

] %
3x4-y+3 =D
2. ¥
Sx+¥y-+7 =140
3. %
dx+ 2y ¥+ bz— 7 =0
4. %

Question Number : 76 Question Id : 8732654909 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The length of the perpendicular from the point (7, 14, 5) to the plane
2x Fdy—6G=2 18
(7.14.5) Do “od 2x + 4y — 6 = z Sodndd Ko vomo ED
Options :
70

.

V21

about:blank 46/90
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11
V21
2. %

59
L, Ve
Lx 3V21

Question Number : 77 Question Id : 8732654910 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The projection of the line jomning the points 4 = (2,3,—1),B = (1,2,3) on
the line having the direction ratios as (2,3, —6) 1s

(2,3,—6) oo &8 dHSheorr HOAL 3&:3-3 A=1(23,-1),B =(1,2,3) Locopeo
9% By &mé@r :‘{Jé‘a’:o.

Options :

3.¢

Question Number : 78 Question Id : 8732654911 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 47/90
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The equation of the line passing through the point (2.1.4) and parallel to
thelmnex —y—2z=5,3x+y4+z=6 1s

(2.1.4) Do&osd tome Bl 8B Bpx —y—2z2=5.3x+y+z=6
& JYdrosdborr Ko By SnEsmo

Options :
x—=i_y-1_z-4
-1 7 4
1. %
1—1=l‘l'—8_£
L~ "=F]
2. ¢

Question Number : 79 Question Id : 8732654912 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the line passing through the points (1.2.1) and (1,4.3) 1s
(1.2,1) %08as0 (1.4.3) DodoHe Hhom BaH Bp Fnd) HRoBBessin

Options :

1. v
: -2 z-1
.1:[,. J :Z_
3 2

2. %
-l y-4 z-3
)
.« L 2 Z

about:blank

48/90
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x-1_v-2 =z-3
1 2 2

4, %

Question Number : 80 Question Id : 8732654913 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. ; =] ped =g < e s
If the two lines x_“:}] = -"2 k_ =Z 5 2 and "':3 A_l =2 1 2 z_ 56 are mutually

perpendicular then the value of & is

x-1 y-2 z=3 k=l _¥=0_2=0 o
Bpen = T e EhlaTevty Ik l 5 Bor J83Bo

womom 808, SRRl k ¥ De.

Options :

~1| W

Question Number : 81 Question Id : 8732654914 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 49/90
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The equation of the plane containing the line
perpendicular to the plane x+2y+z=12 1s

x=1 il z=3
> — 1 — 1 B YDA &0l HBd%n Sodn x+2y+z=128%

o0 a0k Sodn DDEsmo

Options :
O9x—2y—5z+4=0
1.¢¥

_9x+2y—5z—4=0

Ix—2y+5z+4=0

Ox+5y—-2z—-4=0

4.%

Question Number : 82 Question Id : 8732654915 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the plane bisecting the acute angle between the planes

3x—4y+12z=26 and x+2y—-2z=9, 1s
3x—4y+12z=2658c% x+2y—2z=98ekne 5§ Ko Snine
sﬂ::é& @@Q}E’az‘aﬂﬁa ":565.:&5 Pod B Svo HEdrdn.

Options :

4x+38y—622-39=0
1. ¢

22x+14y+10z—-195=0

2. %

about:blank 50/90
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4x+19y—z-41=0

10x+13y+10z—-47=0

Question Number : 83 Question Id : 8732654916 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

. . e | —2 73
The shortest distance between the lines - Y . and

= = 1S
3 4 5
L V2 BB, IR B BN o iite werili thid
2 3 4 3 & § eokdghoeg °
Options :
0
1. %
12
J6
2. %
E
J6
3. %
3
a7
4. ¢

Question Number : 84 Question Id : 8732654917 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 51/90
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The radius of the circle x*+31?+z* —2x+4y—6z—2=0, =0 1s (in proper
units).
Bk ¥+ +7-2x+4y-62-2=0, =0 ¥ T
(3R crdes®)

Options :

NE)

1. ®

ﬁ

2. % )
ﬁ
3.¢

11

4. %

Question Number : 85 Question Id : 8732654918 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The equation of the sphere centred at (2,1.3) and radius 6 units 1s
SolBsne® (2.1.3) $8 K0A, %8s TprgEn 6 ey e HOAR RP¥o
$&¥8es0

Options :

X+ +z°—4x+2y—62z+11=0
1. %

X2+ 12 +z22—4x—-2y—62=22
2. ¢

X2+ 4224+ 4x -2y +62=22
3. %

about:blank 52/90
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x* 432 +z2—-Ax-2y—62-11=0
4. %

Question Number : 86 Question Id : 8732654919 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the sphere which touches the plane 3x+2y—z+2=0
at the pomnt (1.-2.1) and passes through the origin 1s

godn 3x4+2y—z+2=0% DoHH (1,-2.1) S8 GyBdos Hodcto
Sorefodnd Koo S8 R¥o ¥dEsmo

Options :

xX>+y*+z2-11x-2y+z=0

1LY

xX2+3y2+22411x4+2y—2z=0
2. %

X2+ +22—11lx-2y—z=0
3. %

x*+y*+z2 +11x+2y+2z=
4. %

Question Number : 87 Question Id : 8732654920 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

The equation of the cone which passes through the three coordinate axes

X y_ z v

and the lmesl > 3;rmd 27T

X ! Z '
ot VErHE ofsne oo £ddkn Bpen T =5 =7 bk —Z'TZ
Koo §8Gh dodd HinEdmo.

Options :

about:blank 53/90
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2yz+2zx+3xy=0

1%

2xy+2yz+3zx=0
2. %

2yz+2zx—3xy=0
3.¢

2yz—2zx+3xy=0
4. %

Question Number : 88 Question Id : 8732654921 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The enveloping cone of the sphere x*+1°+z°+2x—2y=2with its
vertex (1.1,1) 1s
§8go (1,1,1) e 50AS Bi¥dm X°+ 12 +22 +2x -2y =238

éﬂjfﬁg - {e]=3T)
Options :

32 +12 4+ 22x +H10x+ 2y +4z—-6=0

1%

x4+ +2zx+5x+3y+4z—-5=0
2. %

x2+1y2-2zx+5x—3y+6z—10=0
3. %

3x2—1?+4zx—10x+2yv—-4z+6=0
4. ¢

Question Number : 89 Question Id : 8732654922 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 54/90
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The vertex of the cone x* —2y> 432> —4xy+5yz—6zx+8x—19y-2z-20=0
15
oD x* -2y +327 —4xy +5yz—62x+8x-19y -2z -20=0 Gw¥) &85

Options :

2
1. % (1,2,3)

(1.-2,3)
2.

Question Number : 90 Question Id : 8732654923 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

If the plane 2x—y+cz=0 cuts the cone yz+zx+xy=0 in perpendicular
lines. then the value of ¢ 1s

2x—y+cz =080k, fobp VZ+IX+ XV =08 con Spes® poddob,
OIPE ¢ D) Deod
Options :

|

1. %

2

2.

Question Number : 91 Question Id : 8732654924 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

about:blank 55/90
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Correct Marks : 1 Wrong Marks : 0

In group G=H61_3_19} +m]. the order of 8 is

G:[{U..I.Z ......... ,-10}‘ +10J Brsnd®, § Sk S8K8.

Options :

10

h

4.

Question Number : 92 Question Id : 8732654925 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If n(A) = 4, then the number of commutative binary operations that can
be defined on A 1s

n(A) = 4oowd, A 2 8003590 IS oSty H88che Bogy

Options :

416

1. ®

419
2.

46

44

4, %

about:blank 56/90
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Question Number : 93 Question Id : 8732654926 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a group G has 100 elements, then the number of subgroups of G
having 8 elements 1s

Jrdro G 100 Sromred 20A aol 8 Huroren Bohd G &wé&
ad [t éos%.

Options :

)

4.9

Question Number : 94 Question Id : 8732654927 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
If G={L.—1 i, —i} is a group under multiplication, then the number of
subgroups of G 1s
Koo Sdome G =1{L,—1, i, —ija¥ $rErDs ohph G g
G000ty Dogy

Options :

1

1. #®

about:blank 57/90
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4

Question Number : 95 Question Id : 8732654928 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If 9:Z,—>Z, is a homomorphism defined on the group (Z,,+;,)
given by @(x)=3x_ then ker ¢ is

(Zoyy 1) orirdnd o8 558088 @12, = 7, okose $(x)=3x

v QbDosndd, ©lpd ker ¢ =

Options :

Question Number : 96 Question Id : 8732654929 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0

If O(G) =12 and H 1s a sub group of G such that O(H) = 4. then the
number of right cosets of H in G 1s

0(G) =12 %8c% O(H) =4 @cﬂg&aé&g G & H 2.€ adddurdro wond,
G &® Ho2 H ﬁfmégr 58 JIFdhe ?60%

Options :

about:blank 58/90
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3
], %

5
2. ®

3
3.¢

6
4. %

Question Number : 97 Question Id : 8732654930 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes

Correct Marks : 1 Wrong Marks : 0
The order of 7 in the multiplicative group {L =L —i"} 1S

Homrdd Stardedn (L —L i, —i] &% i Gwt) $648

Options :
3
1. %
4
2.9
3. % 0
|
4. %

Question Number : 98 Question Id : 8732654931 Question Type : MCQ Option Shuffling : No Display Question
Number : Yes
Correct Marks : 1 Wrong Marks : 0

Number of subgroups of the group (Z 4ga+4g)i5

(745,45 ) Ssbomitoision By aibsioritfer omy

Options :

about:blank 59/90
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4. <

-

10

about:blank

Question Number : 99 Question Id : 8732654932 Question Type : MCQ Option Shuffling : No Display Question

Number : Yes

Correct Marks : 1 Wrong Marks : 0

Options :

1. %

2.¢

Question Number : 100 Question Id : 8732654933 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Lnl

0,

o |
wnl

[
N

N
|

Correct Marks : 1 Wrong Marks : 0

The number of generators of an infinite cyclic group 1s
2.8 0388 JBcdh Shoeisin BoE) 2288 Sresre Jogy

Options :

1. #®

about:blank

0

60/90
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|

2

3. ¢

Infiite (©$ocso)

4, %

Question Number : 101 Question Id : 8732654934 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Order of the permutation (56 7 8 9)o(7 9 6 8 5) in the group (Se. 0)
(So, 0) $ordEns® (567 89)0(79685) Bards Sw¥) S8K8

Options :

Question Number : 102 Question Id : 8732654935 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1 2 34 35 6 7T 39
If: = 3 A S 61 9 & T 9 i1s a permutation in the group

(Sg, 0). then 0(a?) is

(12345678 9
BBl Clsn 50198 72
28 (P50 wand, odpd 0(a?) =
Options :

about:blank 61/90
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12

Question Number : 103 Question Id : 8732654936 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The order of the cycle (1 4 5 7) in the permutation group (S, 0) 1s
(B8 S0 (S7,0) &8 38 (145 7) S8 S848.

Options :

3
1. %

4
2. ¥

5
3. %

6
4, %

Question Number : 104 Question Id : 8732654937 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The number of invertible elements in the ring of integers 1s

'!’.;j‘n;a?a: SochosD 9&5HDH Hrere éoaaé
Options :

0

about:blank 62/90
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1
2. %
3. ¢ -
4, % 3

Question Number : 105 Question Id : 8732654938 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The product of (4 5) (1 23)(321)(54) (2 6) (1 4) in the group Se
expressed as the product of disjoint cycles 1s

Sdrdo Se 8 (45)(123)B321D) (54 (26)(14) B8 aaﬁ:a"’méa
Qofnd eaa’:aga a:ega’mnﬂ éé_éﬂééiﬁnﬂ' 6’23‘3 2980,

Options :

L, 1eed
. (1D¢0)

L, 189 @e

. (1426)

Question Number : 106 Question Id : 8732654939 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The number of non-zero zero-divisors in the ring (Z,,+,,,X;,) is

(Zy:+12:X;) S0choe® ErFg88 &y srasre Sopg
Options :

,_1_

1. ®

about:blank

63/90
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3. % 6
v

Question Number : 107 Question Id : 8732654940 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The units of the ring (Z s+Fg» X@) are

(Z »T6> Xﬁ) Hochos®R chrden

Options :

2

1. ®

o 2,4

Question Number : 108 Question Id : 8732654941 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The set of generators of the cyclic group (Z g-Tg ) ,  Where
Zig ={0.1,2,3,4,5.6.7} and g is the addition modulo 8, is

Zig ={0,1,2,3,4,5,6,7} £8d%n 3038 8 & Sobobo wowd, SEdk
SSoriro (Zys+s) @Bk w88 Sorose $208.

Options :

about:blank 64/90
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{zaiq

3. %

{1,3,5,'}'}

4.

Question Number : 109 Question Id : 8732654942 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If a cyclic group G i1s generated by an element O of order 15, then which
one of the following statements 1s true?

2.8 SBch Sdardro G, 858 15 KOA% ¥ fredo Ol 3 as~BSRE,
OFPE (808 (HHSTos® DB HEn?
Options :
a? is a generator of G

G @) 2.8 258 Sredo (A°

1.¢
a3 is a generator of G
G @) 2.8 288 Sarebo (X
2. %
a° is a generator of G
|, G Exf a8 ass Sreto @
al® isa generator of G
G @) 28 k8 dareoo (10
4. %

Question Number : 110 Question Id : 8732654943 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank

65/90
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The number of 1deals in the field F 1s
F 5808 sdgifne (08058)) Sogy

Options :

0

Question Number : 111 Question Id : 8732654944 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The limit of the sequence {-‘f”} as 1 —> 90 where s, =\n>+n—n, is

S, = n2+n—n ©onkdpd, 11— 0 8 vokEo {S‘“} cﬂ::é@r (DY)
Options :

1. % 0

| =

4.9

Question Number : 112 Question Id : 8732654945 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Cauchy’s sequence among the following sequences, 1s
& BKHSE aY)d odESres®, Th wkEdo

about:blank 66/90
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Options :

23 n
- .’?[
1 1 |
{1+m+ﬁ+ ......... +”,}
2.
[171
- HJ
_In+1}
[ n
4. %

Question Number : 113 Question Id : 8732654946 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Which one of the following statements 1s not true in R ?
& (Bod (BdSTeos® 08 R & Jikn 52%?

Options :

Bounded sequences are convergent
| v 2028 oBhre ©di8n Boharon.

Increasing sequences bounded above are convergent
afﬁéag u8rn vbEdra ©)ddn Iodaron.

Decreasing sequences bounded below are convergent
BHS a:ag' ©56°%5rn vdEdre ©dddn Iokaron

Convergent sequences are bounded
038 Iod ©io|Esoren é&a:éé:@aﬁo::.

4, %

about:blank 67/90
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Question Number : 114 Question Id : 8732654947 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

M=

:3“-|—

If §,=) . then the sequence {s, ! is

L )

k=1

n
Y i l v Y
S _;I ©ownd, OIPE B0 {hn }

Options :
Convergent
©SBmo Iodod

Bounded

HB2nd0
[w]

Increasing
@85m0

3.¢

Decreasing
058 5mo

Question Number : 115 Question Id : 8732654948 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If t,=(=1)"+1 for all 7=>1, then

o N21 o 1, =(=1)"+1 ©ond, ©dpk

11‘111 tn f risla

1 o
e AL tn Sy

about:blank 68/90
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2.¢

3. %

4. %

Question Number : 116 Question Id : 8732654949 Question Type : MCQ Option Shuffling : No Display

limsupt, =2 and liminfz, =0

limsup?, =2 &edcke liminfz,=0

limsup?, =2 and liminfz, =-1

limsup?, =2 &8adse liminfz,=-1

limsup?, and liminf7z, do not exist

about:blank

limsup?, &ecse liminfz, HERdo =D

Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

The series

0 _1)11

n 18
n=l

o0 _ln
ZI( n) &
n=

Options :

1. ®

2. %

3. %

4.

about:blank

Convergent to zero
Do 0dBno Johdod.

Divergent
wR280 Bood

Absolutely convergent
éa?'.g?tgi}ﬁém Doosod

Convergent but not absolutely

@3B0 Boovod, 2R ﬁcf’.gjutgé}‘ééea e lnln')

69/90
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Question Number : 117 Question Id : 8732654950 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f:R—R is defined by f(x)=|x| forall x € R, then
o x ER % f(x)=

Options :

e fTRSR 555:‘3}053:.53 OJPE
f1s continuous on R

- R 2 @28e

f 1s not contimuous at ‘0’

0858 [ odn$o ==

2. %

f 1s contmuous at ‘0’ only
. 0 58 & (83 S odipnHoe

f 1s not continuous at any X in R
L Réﬁﬁxééf@a{bﬁ&o?&

Question Number : 118 Question Id : 8732654951 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1
lim n» =
H—»o0

Options :

about:blank 70/90
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does not exist
a’:ééi::péc =%

4. %

Question Number : 119 Question Id : 8732654952 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The function fdefined by f(x) =x, if x € R — Q,
=1—x,1f x €Q 1scontinuous

fx)=x, if x ER—Q, wowa
=1—x,if xXEQ oon3
e AB3DoD0ER (Bhcho ©dPHe @cﬁag&:.
Options : |
at x = 1 only
x =188 S8

1. ®

1
at X = = only

1
X == &8 &8
2. ¢ 2 °
at all rational numbers x
©R) ©E8BH Soggen x B

3. %

R — {0, 1}

Question Number : 120 Question Id : 8732654953 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f(x) = [x] for x € [0,10], then f is
x €0,10] &, f(x) = [x] ®on8, edps f

about:blank 71/90
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Options :

Continuous on [0, 10]

[0,10] & ©dNHe

1. %
Differentiable on [0, 10]

) [0, 10] 2 ostedabo
Integrable on [0, 10]

v [0,10] 3 S&rdodasho
Strictly increasing on [0, 10]
[0, 10] 2 %oo68S5ees0

4. % .

Question Number : 121 Question Id : 8732654954 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If f 1s continuous on [0,1] and differentiable on (0,1) and

‘f(-‘\’)—f(}‘)l <(x—»)* forall x,y in[0,1]. then

[0,1] 3 f od%e écs» (0,1) > f wddoddho vHSr

$08ckw [0,1] &% ofy x,y o [(X) = (V)< (x—1)° w8, vkps
Options :

f 1s Increasing
| x f 880

f 1s a constant function

L v f 2.8 23 ke

f 1s decreasing
- [ 088%5mo

about:blank 72/90
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f 1s unbounded

i wdago

4, %

Question Number : 122 Question Id : 8732654955 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The Taylor series expansion of e® , for x € R s

x ER &, o' G Bob [Fraen D3Bes
Options :

(1
Z s

1. %
ii_l}.ﬂ'xﬂ
n=l (2”17
2. %
ix_”
=2
3. ¢
Z( l)”‘h'”ﬂ
(2Zn+1)!
4. ®

Question Number : 123 Question Id : 8732654956 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
The constant C of the Lagrange’s mean value theorem for the function
f(x) = x+ x°on [0,6]is
[0,6] 2 f(X) = x + x* $PcirR8, Brrof & Jeoss Brposo

B pboe8 C =
Options :

3
1. ¢

about:blank 73/90
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2% O
3. % 2

7
% 2

Question Number : 124 Question Id : 8732654957 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
Let p={ﬂ =Xy <X S.....SX, =b} be a partition of the interval [a, b].
Then the norm of p 1s
[a,b] wosbo Ené) 8 D= P ={a=x,<x,
w8 d. ©lpd p FBE) DS (Diloreso

Options :

[,

..i:x,?:b}

max {
465

1. ®

lﬂa}{{‘l‘f—xj‘flif}jin.iij}

1834
2. %
max {x;, —x,,,|/1<i<n-1}
63
3. %
max {|x, —x, ,|/0<i<n-1|
K85 '
4o O

Question Number : 125 Question Id : 8732654958 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 74/90
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If f:[a,b]—> IR be such that |f ‘ is Riemann integrable on [a, b], then
[a,b] & |f1 8irS Jdrdodaho edere [ [a,b]— R @o8, eipk

Options :
f 1s Riemann integrable on [a, b]
| la,b] 2 [ 858 S&r-gelabo

f 1s continuous on [a, b]

- la,b] 2 f @ddo

f 1s differentiable on [a, b]
- la,b] > f ed8eladho
f 1s bounded on [a, b]

la,b] 2 f H8ado
4.9 e

Question Number : 126 Question Id : 8732654959 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

4

[[x] dx =
0
Options :

about:blank 75/90
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Question Number : 127 Question Id : 8732654960 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1, n

lim
J'.’$OC- 1%1 e L2
Options :

21T

1. ®

(WS =

T
s v 4

Question Number : 128 Question Id : 8732654961 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If f:]0,1] = R is defined by

- 1, if x is rational
f(x) = LA B——
-1, if x is irrational

Then which one of the following is not true?

1, x essdab Hogy wond
pey=4;
"L X gsdah oy wond
e f:[01] » R JbsDosds, edpd & (Bod 8% 28 S0 %?
Options :
f 1s not continuous
[ ©2d¥e &

1. #®

about:blank 76/90
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f 1s bounded
it
) i S50
|f| 1s a constant function
X |f] =8 %ﬁ HDako

f 1s Riemann imtegrable
L [ 8808 Jdrdodakho

Question Number : 129 Question Id : 8732654962 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

1

The value C of Cauchy’s mean value theorem for f(x) = = and

glx) = %01} la, b], a,b > 0 is

1
[a,b] 3 f(x) = — ®8a% g(x) :i La,b > 08 Ph Stk Deosd
?o:goéa ﬁ:oé@r C Dend

Options :
ab
% 2a+Db)
2ab
, x b—a
2ab
3@ a+b
a+b
. % 2ab

about:blank 77/90
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Question Number : 130 Question Id : 8732654963 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
: 1} ©ond, ©JPE

If f(x)=x* on [0,1] and partition P
Up.f)-L(p.f)=
[0,1] B £(x) = x? dobkn Defessd pz{o,
U(p,f)-L(p,f) =

TS
&) w

! l]f . then

Ll 3

1
4

|

a

£ b2

1
4?

Options :
3
w32
R
) 32
L
3¢ 32
2
L% 32

Question Number : 131 Question Id : 8732654964 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If a=(1,-2,5) is avector in the vectospace [R3(IR) that can be expressed
as a linear combination of the vectors ¢ =(LL1). € =(1.2.3), and
€, =(2,-L1), then r=
Soeodoro R3}(R)S® d6¥ a=(1,-2,5)& ¢ =(LL1), €, =(1.2,3) 58c%»
€; =(2.-L1) Jafe DEHrS (o) SoBrom S8R, ©hpd A=

Options :

—b6e; + 3e; + 2eg
1. ¢

about:blank

78/90
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be; + 3e, — 2e;

2. %

—b6e; — 3e; + 2e5
3. %

681 == 382 —— 233
4. ®

Question Number : 132 Question Id : 8732654965 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If the set {(1 +a,1,1),(1,1+a,1),(1,1,1 + a)}. 1s a basis for V;(R) then
228 {(14+a,1,1),(1,14+a,1),(1,1,1 4+ a)},V3(R) & 2.8 opddn vona,
OIp
Options :

aeR \{0,1}

aeR \{0,3}

aeR \ {0,—1}

aeR \{0,—3}
4.

Question Number : 133 Question Id : 8732654966 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 79/90
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If W;={(a,b,c,d)|b—2c+d=0}and W, ={(a,b,c,d)|a=4d,
b = 2c} are two subspaces of the vector space (R* +,), then
dim(W; + W,) =

Wy, ={(a,b,c,d)|b—2c+d =0}&8c5%x W, = {(a,b,c,d)|a =d,
b = 2c} e Sazodoedo (R, +, ), &% Both &b wodorsren ®ows,

oJp dim(W; + Wr) =
Options :

4
1. ¥

Question Number : 134 Question Id : 8732654967 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If T:R?®— R?is linear transformation defined by
T(x,y,z)=(xcos@—ysinf. xsin@+ycosf. z) , then dim(Kerl') =
2.8 DESrS Sraroddnim T:R > R

T(x.y,z2)=(xcos@—vysinf, xsinf+ycosl. z) e ?Jaﬁls:}'fan, ©Jptd dim(Kerl) =
Options :

2

1. #®

about:blank 80/90
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Question Number : 135 Question Id : 8732654968 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If V and W are finite dimensional vector spaces and T:V - Wis a
surjective but not injective linear transformation. then

V 808c0 W en 5880 H8irn Shzrodoreren @pdr s0dddw T:V - W
2.8 Jdoiido v, @35§éaa =58 D58 Srarosddnin wonsd OIPE
Options :

dimV =0
1. %

dimW =1
dmV <dimW

dimV >dimW
4.«

Question Number : 136 Question Id : 8732654969 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes
Correct Marks : 1 Wrong Marks : 0

If T; and T, are linear operators on R? and defined by

T1(x,y) = (y,—x), T2(x,y) = (y,0) for all (x,y) € R?, then

(T, — T, Ty) (x,y) =

Tl @aC&D TZ <0 Eﬁa (‘xl' y) = Rz g? T]_(x,y) — (y,—X), TZ(x-y) = (yro) oe
R? 2 QEDodDEE S $688en wowd wdpd (T1T, — T2 T1) (x,y) =
Options :

L (6)

L %)

about:blank 81/90
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v (2 ~¥)

(—X, _}'}
4, %

Question Number : 137 Question Id : 8732654970 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

T:R*—> R*is a linear transformation defined by

T(x,%,, %) = (X, —X,, X, + ;) forall (%,,%,.%)€R? then nullity
(T) 1s

2. DESrS Srarosdmdn TR SR (.7,.x,)eR8

T(.X'l_, Xy, .?C3) = (.1?1 =X, Xy X, ) e ﬁﬁg&cém&é o3P LS (T) =

Options :

Question Number : 138 Question Id : 8732654971 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If T:R*>R® is a linear transformation defined by T(1,0,0)=(2,1),
T(0,1,0)=(0,1) and T(0.0,1)=(1.1), then the rank of T 1s

T(1,0,0)=(2,1), T(0,1,0)=(0,1) &s&c%w T(0,0,1)=(11)

m 2.8 Q85rd Sraroddndn 1R} » R 360838, T &g 8°8

Options :

about:blank 82/90
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1.33(:J

Question Number : 139 Question Id : 8732654972 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

The rank of 7: R?> > R*defined by T(x.y)=(x+y. x—y. ¥) is
T(x.p)=(x+y, x—y, y) e T:R* > R 3005288, opid T Swd) 58

Options :

Question Number : 140 Question Id : 8732654973 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

0
The characteristic equation of the matrix 0 2 1l
G 0 2
2 1 8
02 1| $a8 @8 oEBE D880
g 2

about:blank
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Options :

% 2-2=0
2
. @DF=0

3
L, @=-1=o0

_1{2—A4) =4
4. %

Question Number : 141 Question Id : 8732654974 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

| 4
The characteristic roots of the matrix 3 5 |are

1 4
2 | B8 Gw¥) PERE Soreren

Question Number : 142 Question Id : 8732654975 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 84/90
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Let T be a linear operator on R? defined by T(x,y)=(4x-2y, 2x+y) for
all (x,y)€R?. Then the matrix of T relative to the basis {(1,1),(-1,0)} is
R? & T awes 8885 $8 (x,y)eR?8 T(x,y)=(4x—2y, 2x+y)re
80N, {(1L1),(-1,0)} egeddn Hapy T Gwoé) S8

Options :

i
e 12

Question Number : 143 Question Id : 8732654976 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

E 2 1
Nullity of the matrix |0 1 0]js
0 -1 1
2 2 1
0 1 0| $r(88 Got) &S
0 =4 1
Options :
-1
1. %

about:blank 85/90
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Question Number : 144 Question Id : 8732654977 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

2 =5
If A=-5 11 —8| is a matrix. then trace of A 1s
8 T 6
Z =5 7
A=[=5 11 -8 o (88 ©ond, olpis A Gnod) o
8 7 6
Options :
1. ¢ 19
2. % 17
5
3. %
-5
4. %

Question Number : 145 Question Id : 8732654978 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

about:blank 86/90
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The rank of the matrix

Sr@g A=

Options :

Question Number : 146 Question Id : 8732654979 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If @« =(2,1,2) in an inner product space V3(R). then ||a|| =
Vs (R)@oégeg wodoEdn &, a = (2,1,2) wond wdpd ||af| =

0

Options :

about:blank

-2

1
2
1

1

|

A=

-2

Lh

> 2| @k g8

-

&

about:blank
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3
4.

Question Number : 147 Question Id : 8732654980 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

A unit vector orthogonal to (2,—1,6) in an inner product space R3 is

©od8n wosorEin R* & (2,—1,6) % eontBobhomr dod 2.8 il 564

Options :

(98]

8

T ——
| D
)| —

— T _]'
373" 3
4. %

Question Number : 148 Question Id : 8732654981 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0

If «a =(—1,0,1)and B = (2,0, —2) are elements in the inner product
space V3(R). then ||a + B]| =

@ = (~1,0,1) %835 B = (2,0, -2) & wosgy wodctin V3(R)& 2
HromrSd, ©ipd | + 8| =

Options :

|

1. ®

about:blank 88/90
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~

s

2. ®

V2

3.¢

Question Number : 149 Question Id : 8732654982 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If «, B are vectors in a real inner product space and ||a|| = ||B]|. then
(a —B,a+p)=
THE ot wodorEdns® a, f e $8dw Dod [|a|| = ||B]] w3,
odpd (a — f,a+ p)=

Options :

- a+f
1

3. %
0

4.4

Question Number : 150 Question Id : 8732654983 Question Type : MCQ Option Shuffling : No Display
Question Number : Yes

Correct Marks : 1 Wrong Marks : 0
If W 1s a subspace of a finite dimensional inner product space V, then
dim W=
2.8 HEE BoUre vosPy wodooFin V ¥ 2.8 aarodoogdn W ©owd,

oopd dim W=
Options :

about:blank 89/90
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V-W

1. %

dimV - dimW
2.

dimV + dimW

3. %

dimV . dimW

about:blank 90/90



